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Min {C} =420Y; + 300Y, + 240Y; Max {z} = 30X; + 20X,
6Y;+3Y,+4Y; > 30 6X1+6X, <420
Y.+ 6Y,+2Y5; > 20 3X;+6X,< 300
Y1, Y5,Y3>0 4X+2X,< 240
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Min {C} = 420 Y, + 300Y, + 0A; + MS, + 0A, + MS,
6Y1+3Y,+4Y;-A;+5,=30
6Y1+6Y,+2Y;3-A+S,= 20
Y1, Y2, Y3 Ag, Az, S1,52>0
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c v 0 0 0 0 0 0 1 1
Yl Y2 Y3 A1 A2 Sl Sz
11 S 30 6 3 4 -1 0 1 0 30/6 =5
1] S 20 6 6 2 0 -1 0 1 20/6 = 3,33
C=50 -12 -9 -6 1 1 0 0
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a1 8 paze
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c v 0 0 0 0 0 0 1 1
Y, Y, Y3 A1 A Si 2
1 S1 10 0 -3 2 -1 1 1 10/2=5
07 Y. | 20/6 1 1 1/3 0 -1/6 0 20/2 =10
| C=10 0 3 | -2 1 -1 -1
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c v 0 0 0 0 0 0 1 1
Y1 Y2 Y3 A; Az 1 2
0 Y3 5 0 -3/2 1 -1/2 1/2
0 Y, | 10/6 1 3/2 0 1/6 -1/3
C=0 0 0 0 0 0
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c v 0 420 300 240 0 0
Y1 Y2 Y3 Al A2
240 | Y3 5 0 -3/2 1 -1/2 1/2
420 | Y1 | 10/6 1 3/2 0 1/6 -1/3
C =1900 0 -30 0 -50 -20
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